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WS 6.4: Area of Triangles/Review of LOS and LOC Dﬁlz

Two ways to find the Area of a triangle:

1 .
1. 4= 5 absinC Given 2 sides and 1 angle - all letters different; a, b = sides, C = angle

Example: Find the area: p=6.8in,k=16in,H=111°

A=~;—kpsinH

A=%(6.8)(16)sin111°

A=150.79in

2. Heron’s Area Formula - Given 3 sides of the triangle
The area of a triangle with sides of length @, b, and c is

A, =\/s(s—a)(s—b)(s—c)

1
Where s = g(a +b+c). The variable s is called the semiperimeter, or half-perimeter, of the triangle

Example: Find the area of the triangle to the right {nearest tenth). 5
D 6.6 ft P
Step 1: Find the semiperimeter:
s :%(7+6.6+9)=11.3
7 ft 9t
Step 2: Use Heron's formula:
A, =411.3(11.3-7)(11.3-6.6)(11.3-9)
E
A =+/525.2579
A =229
Exercises: Find the area of the triangle to the nearest tenth (show work).
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3. INDRPQ,q=14,p=12,r=9 5=17-Y 4. InBXYZ, y=13.9,x=156,z=8.1
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A= SS9 | A)18.8 (18.8-89Y18.8156Y18.5-8 1]

5. InAZXY,y=8.6,x=6msZ=284" 6. INATRS,s=8,r=17, m4T=82°
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7. InARPQ,r=11,g=101,p=8  |N.<5
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A=l 55 (0SS -5 100 Y 1435-6)
Review of Law of Sines/Law of Cosines

8. Solve the triangle: 9. Solve the triangle: N

[rqAPQR r=13m, q = 6m, m/P=96° In APQR, g=22 ft, r = 6 ft, p = 20ft
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4= b &?23- q- 22 Q=lot.S
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10. Solve the triangle: 11. Solve the triangle:
In ABCA, m/B =26° a=l4cm, b= 10cm In ABCA, m£B =129° a=37in, b= 37in
A=31T o=y s sm2 A '
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